Auxiliary Problems for Chapter 33
1.
Progressive taxation ___________ (increases, decreases) equity and ____________ (increases, decreases) efficiency.  

2.
Use Table 33.1 to compute the taxes on an income of $250,000.


a) 
What is the marginal tax rate?

b) 
What is the average tax rate?

3.
Using Table 33.1, compute the taxable income and taxes for the following taxpayers:

	Taxpayer
	Gross Income
	Exemptions

and Deductions
	Taxable Income
	Tax Liability

	A
	$10,000
	$4,000
	
	

	B
	$40,000
	$15,000
	
	

	C
	$90,000
	$39,000
	
	

	D
	$350,000
	$112,000
	
	


Which taxpayer has:

a) 
The highest nominal tax rate?

b) 
The highest effective tax rate?

c) 
The highest marginal tax rate?

4.
If the tax elasticity of labor supply was 0.20, by how much would the quantity of labor supplied increase among people in the top U.S. tax bracket if the highest marginal tax rate in the U.S. were reduced to the level of Russia’s (World View, “Top Tax Rates”)?

5.
Calculate the percentage of income paid in Social Security taxes (7.65%) by a worker earning:

a)
$30,000

b)
$120,000

c)
$250,000

d) With respect to tax equity, what kind of a tax is this?

6.
Assume that Mary, Ali, Flora, David and Smita receive incomes of $4,000, $2,500, $1,500, $800 and $200, respectively. Construct a Lorenz curve for this five-person economy. What percentage of total income is received by the richest quintile and by the poorest quintile?

